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Grade 7 Semester 1 Lesson 1

Task 1:

KEYWORD

function sequence equivalent fraction ascending
algebraic expression variable common factor decimal
prime number highest common factor

MEANING

GRADE 6 REVIEW

CAN YOU REMEMBER THE KEYWORDS FROM GRADE 6?

Write the correct keyword for each definition from the box below.

PICTURE or EXAMPLE

n+ 3
1 A symbol for a number we do not
know. \
A math statement that consists of
arithmetic numbers, letters, (used
2 as symbols) and operation signs X + 6
(+-x)
This has an input and an output input 2
3 and the output is related by a output 4
number operation. 2 is the operation.
3,6,9,12,15.....
4 A list of numbers in order using a
number rule.
+3 is the rule.
This has exactly only two factors,
2 itself and one. 35.711,..




GRADE 6 REVIEW

PICTURE or EXAMPLE

6 A number that can be divided into 8={1,2,4,8}
more than one number. 12={1,2,3,4,6,12}
A fraction that is the same 1 2
7 as another but uses different —_ = —
numbers. 2 4
A number that has a whole number
8 and a fraction part. 56 4
9 The highest number that divides | 12 = {1,2,3,4,6,12}
exactly info two or more numbers. 18={1,2.3,6,9, 18}
Arranging numbers from smallest
10 to largest. 0,2,4,6,8,10, ..




GRADE 6 REVIEW

Task 2:  MATCHING

Help us draw lines to match the words with
their correct meaning or picture.

€ equation a) A é(;
@ denominator b) ’% How many
. 2111041
€ order of operations c) S Te 1303
ercent
Or o 4
5
@ fraction
e) | 7d
venn diagram
© ’ f) 29 - 209
100
function table
o g) 4b+3 =11
@ quo‘“enf h) E,D,M,A,S.
3
© term ) g / How many parts

@ numerator i “



GRADE 6 REVIEW

Task 3: MULTIPLE CHOICE!

Complete the sentences. Choose a, b, or c.

€) Algebrais the area in math where ... are represented by letters.

a) additions b) numbers c) equations

O An. is a statement that shows what is on the left of the equals sign is the

same as what is on the right of the equals sign.

a) expression b) equivalent fraction c) equation
© A is a list of numbers in order.

a) sequence b) set c) factor
O A e has a whole number and a fraction combined.

a) fraction number b) decimal number ¢) mixed-number

@ A number has more than two factors.
b) mixed

a) fraction c) composite

Task 4: FOLDABLES

Make this foldable to help you organize your grade 6 review words.

Begin with 4 sheets of A4 paper.

) Stack 4 sheets
of paper as
shown.

@ Fold upward
so all layers
are the same

distance apart.

€ Crease well.
Open and glue
toghether as
shown.

@) Label each page
with a word. Then,
write the meaning
or draw a picture.

Grade & Reoview
foo-Dait g.,\;nu'wl‘:

ote DAferencei

Eotimm




Grade 7 Semester 1 Lesson 2

OPERATIONS WITH
DECIMALS

decimal addition subtraction multiplication
KEYWORDS:
dividend divisor quotient

DECIMAL 27.173

addition subtraction
18.873 27 173
+ 8.300 - 8.300
27 .17 3 18.873

multiplication division 130

2.85 52+0.4 4%
x 0.01 12
0.0285 04520

Good morning, students. Today's lesson is about operations
with decimals. Sheikha, please remind us what a decimal is.

Yes, Mrs. Aisha. A decimal is a number that uses a decimal point followed
by digits that show values less than one. I think Maha can tell us more.

Thank you, Sheikha. You know, addition and subtraction are
really easy. You just line up the decimals. In multiplication, the
product must have the same number of decimal places as those in
the factors. But division is different.

Yes, Maha, division is different. To divide decimals you have
to move the decimal point of the divisor and dividend the same
number of places to the right. Then, you divide as usual.




OPERATIONS WITH DECIMALS

The quotient is the answer in a division problem. Look at our poster.

o

< [

divisor

I I

6.8 + b =

quotient

13.7%

Well done, Huda. I'm sure you all remember that the dividend is the
amount you want to divide up, and the divisor is the number you divide by.

Task 1:

decimal

addition

subtraction

division

divisor

dividend

quotient

multiplication

Draw lines to match each keyword to the correct example or definition.

27.173

18.873
+ 8.300
27 .173

52 +04-=130
130

0.4 1520

oA\

2.85
x 0.01

0.0285




OPERATIONS WITH DECIMALS

Put the
decimal point
where the 'and' is
in the number.

Task 2: Read each number.
Then write it in standard form.

a) Seven and thirty-five hundredths.

b) Four and fwenty-three hundredths.

c) Nine and fifty-six hundredths. .

d) Eight and seventy-two hundredths.

e) Sixand seven tenths.

f) Five and eight tenths.

Task 3:

Match each group of words to its corresponding number.

@  Fourisin the hundredths place. a) 17.08
@  Zerois in the tenths place. b) 28.14
© Fiveis in the hundredths place. c) 52159
© Threeis in the ones place. d) 934.25
©  Twois in the tenths place. e) 103.46
®  Nine in the hundredths place. f) 621.95



OPERATIONS WITH DECIMALS

Complete the table. Fill in all blanks in all columns:
keywords, meaning, picture or example.

KEYWORD MEANING PICTURE or EXAMPLE

Write the numbers with the

addition of decimals | decimal points lined up, then
add as usual.

56.00

subtraction of decimals ~19 .46
36.56

Move the decimal points on
both until you are dividing by a 4 ) 84.4
whole number as usual.

Multiply without decimal

mul‘nphca‘rlon points and add them in after.

0.82

dividend 4)328

The number that you 4.9
divide by. 5)24.5

This is the answer in a

quotient division problem.




Grade 7 Semester 1 Lesson 3

integer positive integer negative integer absolute value
KEYWORDS:
comparing integers ordering integers descending ascending

Today, Mrs. Aisha is teaching the class about integers.
Read and listen to the lesson. Then, do the activities.

r-—- - -- .- - - a r-—.-~ - -,- - - 1
L e e e =T = d L d

absolute value
how far a number is from zero

—6F 6 >

| | | | | | | |
I I T T I I I I

] | | | | | | | | | |
I — I L B e
-0-9 8 -7-6 5-4-3-2-10Q12 3 456 7 8 910

Good morning, class. Today, we are studying integers, which are whole
numbers with no fractional part.

Integers that are greater than O are positive integers (+), and integers
that are less than O are negative integers (-).

Absolute value is how far a number is from zero. It does not matter if it is a
negative or a positive number. The absolute value is always positive.

This symbol "|" is placed on both sides of the integer to mean absolute value.
We write |-6| = 6, which means the absolute value of negative six is 6.

So if a value is negative four or positive
four, its absolute value will always be
positive four. Is that right Mrs Aisha?

[Yes, it is Maha.




compare integers

o order integers
Which is larger? 7 or 5?2 -5or -7?

Ascending Order
-10 -3 4 7 27

- | »
~ | »~
A09876543240123456782910 /

Review Symbols for
comparing Integers:

(is less than) descending order
(is less than or equal to)
27 7 4 -3 -10

(is greater than)

(is greater than or equal to)

(is equal to)

(is not equal to)

When we compare integers, we decide which is larger.
We always read numbers from left fo right.

Who can read these two number sentences?
-4<2 and -4>-8

I canl We say "negative four is less than 2" and
“negative four is greater than negative eight.”

Can you arrange these integers in ascending order?

32 -b 12 -2 6

Yes! Ascending order gets larger and larger.

So the order would be: -5 -2 6 12 32

Descending order gets smaller and smaller.

The same integers in descending order would be: 32 12 6 -2




INTEGERS

Task 1:  Draw lines to match the words with their correct symbols.

(1) positive integer a) >

(2] negative integer b) <

€ absolute value c) 5,3,0,-2,-12,
© ascending order d) =

® descending order e) -6,-1,2,4,5,
® greater than f) -14

@ equals o g) |-81

© less than h) 37 or +37

Task 2: ACTIVITY

Write 5 positive integers in this box.

Write 5 negative integers in this box.

Now can you put the integers in ascending and descending orders ?

Ascending:

Descending:




KEYWORD

INTEGERS

J% Complete the table. Fill in all blanks in all columns:
keywords, meaning, picture or example.

MEANING

A whole number that has no
fractional part.

PICTURE or EXAMPLE

B B L B S s s By
476543210123 45¢678

positive integer

negative integer

A whole number less than O.

How far a number is from

zero.
|-6] =6
6] =6

4-7-65-43-2-101 234506738




INTEGERS

KEYWORD

comparing integers

MEANING

PICTURE or EXAMPLE

7 > 4
-3 < -1

ordering integers

We can order them as they
are on the number line.

Order integers from greatest
to smallest.

2,1,0,-1-2,-3

ascending

-3,-2,0,3,4,6




Grade 7 Semester 1 Lesson 4

OPERATIONS WITH
INTEGERS

' KEYWORDS: opposites  additive inverse  factor  product ]

Today, Mrs. Aisha is teaching the class about integers.
Read and listen to the lesson. Then, do the activities.

opposites

<
<

| | | | | | | | | | |
[ —— I e
-0-9 8 -7-6 5-4-3-2-1012 3 456 7 8 910

-7 + 7 =20

f -6 x -2 x 10 = 120
additive inverse W
v factors product

Good morning, class. Today, we are studying integers. We know that every
integer has an opposite. What is the opposite of negative three, Maha?

It is positive three, Mrs. Aisha, and the opposite of negative seven
is positive seven. Opposites are the same distance from zero in
different directions. They have the same absolute value.

If you add opposites together you will always get zero! That's why
the opposite number is called the additive inverse. Negative seven
plus its additive inverse, positive seven, equals zero.

Multiplying integers is not hard. We just need to remember that
factors are the integers you multiply fogether to get the product,
which is the answer in multiplication.




OPERATIONS WITH INTEGERS

Task 1:

Use the words in the box below to fill in the missing words from each sentence.

factors positive negative opposites
additive inverse zero integer product
Negative sixisthe ... of six.

Two integers with the same absolute value are called ... :

® 6 ® © ©

We multiply twoormore ... fo finda ... :
Whenweadd ... threeplus ... three,weget ... :
Every ... has an opposite.

Task 2: Let’'s TALK!

Read each of the sentences in Task 1 to a partner.

Oh no! Does
that mean they
both add up to

Is anyone

Sometimes I think I am the listening fo me?

opposite of you-know-who.

zero? Two integers Q
with the same O
absolute value
are called...




OPERATIONS WITH INTEGERS

Complete the table. Fill in all blanks in all columns:
keywords, meaning, picture or example.

KEYWORD MEANING PICTURE or EXAMPLE

-2 +2
Integers that are the same r—/
distance from zero but in o

opposite directions.

+3 + -3 =0
additive inverse
4 + +4 = 0
One of the numbers that are
factor multiplied fogether to get a
product.
The answer to a +2 x-3 = -6

multiplication problem.




Grade 7 Semester 1 Lesson 5

POWERS AND
EXPONENTS

exponent  index power base  squared  cubed

KEYWORDS: o
radical sign /  square root

(;):f:e:.ent.\’ 3 squared 23
or power) 2 3 2 2 CUbed
) 8 3x3=9 2x2x2=8

square rooft

radical
T~J5:-3

Good morning, students. Today, we are going to learn about powers and exponents.
Rashid, can you please tell us something about powers and bases?

Yes, Mr. Omar. The base is the number that we use as a factor.
The exponent tells us how many times fo use the base as a factor.
Exponent, index and power all mean exactly the same thing.

Look at the 82 on the board. The 8 is the base and 2 is the index.
We use 8 as a factor two times, 8 x 8, to get 64.

We can say 8 to the power 2 or 8 squared.

Squared means to use the base as a factor two times, and cubed
means to use the base as a factor 3 times. So, 3%is 3 x 3, which
we know is 9, and 23 means 2 x 2 x 2, which is 8.

Well done, class. The square root is the number used as a factor two times
to give the number inside the radical. The square root of 9 is 3 because
3 x 3=9. We use the radical sign (V' ) fo mean the root of a number.




POWERS AND EXPONENTS

Task 1: MATCHING.

Draw lines to match each keyword with its definition.

(1) power a) is using the base as a factor 3 times.
® squared b) is the symbol for the radical.
e / c) is how many times the base is used as
a factor.
© cubed d) is the number we use as a factor.
© base e) is using the base as a factor 2 times.
Task 2:  MULTIPLE CHOICE!

Choose a, b, c or d to complete each sentence.
€ The number that we use as a factor is called the . )

a) index b) base c) exponent d) radical sign
O The is the number used as a factor two times to give

the number inside a radical sign.

a) index b) cubed c) square root d) radical sign
© Another word for power or exponent is ... .

a) index b) cubed c) base d) radical sign
© Weusethe ... to indicate the root of a number.

a) index b) base c) square root d) radical sign
@ The oo tells us how many times to use the base as a factor.

a) exponent b) base c) square root d) radical sign




POWERS AND EXPONENTS

Task 3: Use the keywords in the box below to complete each sentence

exponent power base squared cubed
radical (V' ) square root

O 2means2. .2isthe and 3
isthe ... :

@ since4?=16,the ... of 16 is 4.

©  When we see 62 we can saybtothe ... of 2 or we can
SAY 6 :

O A sign is used to indicate a root of a number.

Task 4: LET'S TALK!

Ask your partner these questions and listen to the answers.

What's the word for using the base as a factor 3 times?

What's the word for using the base as a
factor two times?

What tells us how many times to
use the base as a factor?

What do we call the sign
that shows the square root?




POWERS AND EXPONENTS

Complete the table. Match the keywords listed below with
/)& either the meaning or picture/example. Fill in all blanks in
all columns: keywords, meaning, picture or example.

base power square root exponent

KEYWORD MEANING PICTURE or EXAMPLE

How many times to use the

exponen‘r base as a factor.

Jo =3
[3x3=9]

square root

Another name for an exponent.
How many times to use the
base as a factor.

The number that we multiply /32
by itself. base 3x3




POWERS AND EXPONENTS

Complete the table. Match the keywords listed below with
/)% either the meaning or picture/example. Fill in all blanks in
all columns: keywords, meaning, picture or example.

squared index radical sign cubed

KEYWORD MEANING PICTURE or EXAMPLE
23 = 2x2x2
cubed
2 cubed
The symbol to find the square
root of a number, which is its \’

base number.

index 4° TIndex

Use the base as a factor two

sq uared times.
The exponent is 2.



Grade 7 Semester 1 Lesson 6

VARIABLES AND
ALGEBRAIC EXPRESSIONS

' KEYWORDS: variable  expression  equation like terms  coefficient terra

coefficient variable

< / expression
éx _v7 - 5 p——
equation X - 7 — 5
3x + 4xy + 2x = 6xy N l_ Pa

3x and 2x... like terms
4xy and 6xy... like terms

Today, we are going to look at words we
use in algebraic expressions.

Look at the board: What do you see?

A variable is a letter that takes the place of a number.
An expression has numbers, variables and operation signs (+,-).
The coefficient is the number we use to multiply a variable.

An equation is a maths sentence with an ‘equal’ (=) sign.
Terms are letters and numbers separated by + and - signs.
Like terms have exactly the same variable.




VARIABLES AND ALGEBRAIC EXPRESSIONS

Task 1: MATCHING

Draw lines to complete each sentence.

€ Anexpression
@ Anequation

A variable

The coefficient

©
@ Terms
(5

a) is a maths sentence with an = sign.

b) are separated by + or - signs.

c) has variables, operation signs and numbers.
d) is the number that multiplies the variable.

e) can be a letter that takes the place of

Task 2: MULTIPLE CHOICE!

€ Inda+3b-2q,

a) terms

a) terms

a) like terms

O 4a+3b-2aisa/an ... .

a) expression

a number.
Choose the correct answer. Is it a, b or ¢?
4 3and2are ... )

b) variables c) coefficients
@ Inda+3b-2a,aandbare ... .

b) variables c) coefficients
€© In4a+3b-2a,4aand2aare ... .

b) expressions c) coefficients

b) variable c) term
@ 4a+3b-2a=15isa/an ... .

b) expression c) equation

a) term



VARIABLES AND ALGEBRAIC EXPRESSIONS

Task 3: PUZZLE TIME!

Across
4) An ... has variables, operation signs and numbers.
5) Avariablecanbea ... ... ... that takes the place of a number.
D 1) have the same
o variable. (2 words) 1
w
n 2) The .. is the number
that multiplies the variable.
3
3) are separated
by + or - signs.
4) An ..o is a maths

sentence with an = sign.




VARIABLES AND ALGEBRAIC EXPRESSIONS

Task 4: MATCHING

Match the example to the keyword.

@ 5a+3b=2c a) like terms

O 4y-+3 b) equation

© 4xand 3x c) expression
Task 5:

For each term, find the coefficient and variable. Then find the operation sign. Write
them on the lines. Check your work with a partner.

an+7

coefficient . . ..., o variable

Task 6:

Play this game with your partner. Don't forget to take turns.

I am a maths sentence with _ I am the number you use to
an ‘equal’ sign. What am I? - multiply a variable. What am I?

I have exactly the same

variable. What am T2 I am a letter that takes the

place of a number. What am I?




Grade 7 Semester 1 Lesson 7

™
GEYWORDS: '~ term  sequence  term-to-term  position-to-term  nth Term]

Today's lesson is about sequences.
Read and listen to the lesson. Then, do the activities.

| Ao

] (1] nth term = any term

[ S=——— Sy

position | 1|2 |3 |4 n position | 1 |2 |3 |4|.. nth
bx= 5 10 15 20
term |6 |11]16]21]..| 2 *
\A\_A_A term | 6|11|16|21]|..|B5n+1

+5 +H5 +b

term to term: x+5 position to ferm: 5n + 1

Good morning, class. A sequence is a list of numbers in a special order.

We built matchstick houses to create a sequence. The first house took 6
sticks, the second five more sticks - that's 11, and the row of 3 houses took
16 sticks. Rashid, can you tell us something about the sequence 6, 11, 16, 21?

Yes, Mr. Omar! The numbers in a sequence are called terms. When
we look at our sequence on the board, we can see that there is a
term-to-term pattern. The pattern is plus five. We can find the
next term by adding five to the one before it.

But what if we want a rule that will give us any number in the sequence?
What do we do when you ask us for the 20th term, Mr. Omar?

I might ask you for any term, that's what we call the nth term. e
Khalid, can you answer Mohammed's question? 2

Yes, Mr. Omar. Mohammed, you can make a rule for any term by
finding the position-to-term pattern. In the case on the board we
would multiply the position by 5 and add 1 to get the nth term.




Well done, class. Now let's do some activities to help us
remember these keywords.

Task 1: MATCHING.

Draw lines to match the keywords to the example or definition.

(1) sequence a) 6, 11,, 21, 26...
@ term by | 6 |11]|16(21
N A A

+5 +H +b
term-to-term
c) 6,11,16, 21, 26...

(3]
Q position-to-term
(5)

d) any ferm
nth term e) bn+1
Task 2: MULTIPLE CHOICE!

Choose a, b, c or d to complete each sentence.
@ We can find the nth term by usingthe ... .. rule.

a) sequence b) nth term c) term-to-term
O The .. means any term in the sequence.

a) nth term b) term-to-term c) position-to-term  d) ferm
€© Finding the pattern of difference between termsiscalledthe ... . . rule.

a) term-to-term b) position-to-term  c) term d) sequence
O Aln ..o is a list of numbers in a special order.

a) position-to-term  b) term c) sequence d) nth term
@ A/n. is any number in the sequence.

a) sequence b) term-to-term c) nth term d) term



Task 3: LET'S TALK!

Read each sentence in Task 2 to a partner.

Task 4: JUST FOR FUN!

Write what you think Rashid and Mohammed are saying in the speech bubbles.
Write what they are thinking in the thought balloons.

What is Mr. Omar thinking?




KEYWORD

sequence

MEANING

PICTURE or EXAMPLE

term

nth term

term-to-term

position-to-term




1)
2)
3)

4)
5)
6)
7)

HOMEWORK!

Cut out the squares at the bottom of the page.
Count the blocks in each shape.

Fill in the sequence table for the third shape.
The first two have been done for you.

Build the next two shapes.

Complete the table.
Describe the term-to-term pattern.

Tell someone at home what you know about sequences.

position | 1 | 2 | 3 [ 4 | 5

term 3 6 9

The term-to-term pattern is:

- - T - - T - — T — — T — — "
| | | | |
| | | | |

— -+ - =+ - — 4+ — — + — — A
| | | | |
| | | | |

— -+ - -+ - — 4+ — — + - — A







Grade 7 Semester 1 Lesson 8

»

inequality solution of inequality open circleO closed circle® less than <
KEYWORDS:

less than or equal to < greater than > greater than or equal to 2

Today, Mohammed and Khalid are learning about inequalities.
Read and listen to the lesson. Then, do the activities.

INEQUALITIES
-2>5y-7

IA

> <

CLOSED CIRCLE

=

OPEN CIRCLE

Good morning, class. Did you know that inequality means that the numbers
on each side are not equal? How do we show an inequality, Khalid?

We can show an inequality by using a greater than or less
than symbol, Mr. Ahmed.

There may be more than one solution. How can we show
the solutions, Khalid?

Well, Mohammed, to show solution of an inequality
the we can use arrows with circles at the end. Do
you see the number lines on the board? How do we
know when to use the right circle, Mr. Ahmed?

If the solution includes the number shown on the number line, then we use
a closed circle. If the solution does not include the number shown on the
number line, then we use an open circle.




INEQUALITIES

Task 1: Choose the correct word from the box below to complete these sentences.

Task 2: MATCHING

Draw lines to match each word with its picture or example.

(1)

!@QQQQ

greater than  less than  open circle closed circle inequality

When we show a solution from on a humber line that includes the number,

WeUSe Q.. circle

When an expression or term is not equal to another

expression or term, thenitis a/an ... :

If a solution set is greater than a number but not equal to that number, then

weusea/an ... )

greater than a) 23 -1>12 + 4

inequality b) i
1 2 3 4 5

closed circle c) >

less than d) ——t—————
1 2 3 4 5

open circle e) <

solutions f) x=-1,0,1,2, 3..



Task 3: MULTIPLE CHOICE.

Circle the correct answer. Is it a, b or c?

(1)

12)

The answers for an inequality are knownas the ... .. ... . :

a) open circles b) solutions c) closed circles

If the solutions include the number, the arrow startswith ... .

a) a closed circle b) an inequality c) an open circle
AN) should be treated like an equation.
a) inequality b) solution c) open circle

Inequalities that have the larger amount to the leftuse the ... ... :

a) less than sign b) greater than sign c) equal sign.

If the amount on the left is less, thenwe use the ... . )

a) greater than sign b) closed circle c) less than sign.




INEQUALITIES

ACTIVITY: Use any keyword and draw a cartoon to illustrate it.
Write the keyword in the box




inequality  open circle closed circle less than
greater than  solution of inequality

KEYWORD MEANING PICTURE or EXAMPLE

The values on each side of the
symbol are not equal. -2> 5Y -7

The amount on the number line|  =—f————@ sl

is included in this solution. 1 2 3 4 5
All the possible answers to the
inequali‘ry. —21-11011121

When an amount on the

an amount | tef————|—
number line is not included in
that solution. 1 2 3 4 5
The value on the left is
larger than the value on the >

right.

The value on the left is
smaller than the value on the <
right.




Grade 7 Semester 1 Lesson 9

THE COORDINATE
PLANE

'KEWNORDS: graph x-axis y-axis coordinates x-coordinate y-coordinate ]

,(6 4)

>
23456789 X

Yes! Look at the board. h
A graph is a chart that shows relationships between numbers.

We use bars or lines.

On a graph, the x-axis goes across from left to right through zero.
It is a horizontal line.

The y—axis goes from top to bottom through zero. It is a vertical line.
Coordinates are two numbers that show an exact point on a graph. For
example, (6,4). The 6 is the x—coordinate. We read it first. The 4 is
the y—coordinate. We read it second.

So that's 6 to the right and 4 up. That's very clear,
Sir. Thank you,




THE COORDINATE PLANE

Task 1:  Complete the following sentences using the words in the box.

vertical point graphs horizontal ,
A
ot
€@ Thex-axisisa ... line. st
2 P(2.2)
@O They-axisisa ... line. y T
PRI AN R A
€ Coordinates are 2 numbers that show anexact ... . 1,
. . 1.3
.......................................................... show relationships between numbers. )
Yy

Task 2:  In each of these sentences, one word is wrong. Find it and correct it.

The x-axis is a vertical line; it goes across.

5 and 8 are coordinates on a picture.

In the coordinates (3,9), nine is the x-coordinate.

O 0 eC

The y-axis is a horizontal line; it goes up and down.

Task 3:  \WULTIPLE CHOICE BEEEEEET

Choose the correct answer. Is it a, b, or ¢?

@ Thex-axisisa ... line. AR SN
a) vertical b) horizontal c) shor'T—-
® They-axisisa ... line. _,,_ 777777777777777
a) vertical b) horizontal c) short
€ We use brackets and a comma to write ... )
a) coordinates b) the x-axis c) the y-axis
O 1In(7,2),7isthe ... .
a) y-coordinate b) x-coordinate c) y-axis
@ In(72),its7tothe ... and 2 up.

a) right b) left c) middle




INEQUALITIES

Task 4:  pyzZLE TIME!

Do the crossword.

Across
3) A has an x-axis and a y- axis.
4) are two numbers that show an exact point on a graph.
5) The x-aXiS iSQ ... line

E 1) They-axisisa. ... line. !

w

n 2) In(62)thenumber . ... ... ... ... is

the y-coordinate.
y-coordi > 3
4
5
Task 5: LET'S TALK.

Ask a partner the following questions.

We are the two numbers iha'? fhesh]:\re onscil dgr?‘phsi :
that show the exact position Thg u9°h€z r‘omWh ef 0 ; 9e
on a graph. What are we? ough zero. at am I:

I am the line on a graph
that goes straight up

through zero. What am I? [l lnead

coordinates, you read me
second. What am I?

When you read coordinates, you
read me first. What am I?




Grade 7 Semester 1 Lesson 10

LINEAR FUNCTIONS

| function  input  output  function rule  function table
KEYWORDS:

ordered pairs linear function

linear function function f(x)

/ }Change . \?UIH;T

b—v——l
Change in X

function table

6 | 9 |12
4 |7 2|3 (x.y) (6.4) (9.7) (12,11)

ordered pairs

‘ A function is like a machine: it has an input and an output.
J The function relates the input to the output in a specific way.

It is often written as f(x)
A function has three parts: Input, Output, and Rule.

The input is the number you begin with. The output is the changed
number. The input is changed by the rule of the function. A rule
tells how one number is related to another. On the board, the rule is:
Subtract 2, if x-2=y, 6-2=4,and 9-2 =7.

What are the next two numbers?

That's easy! 12 -2 =10and 15 -2 = 13. T can see the function
better when I arrange the input and output in a function table like
the one on the board. What is a linear function?

A linear function is the rule that generates a straight line on a graph.
You can write the input and output of a function as an ordered pair
(x.,y), such as (6,4) and (9,7). They are called ordered pairs because
the input always comes first, and the output second: (input, output).
We must have at least two ordered pairs to determine the correct rule.




LINEAR FUNCTIONS

Task 1: Fill in the blank and read each sentence to a partner. Start with the letter given.

@ (6,4)and (9,7) are examples of an o

©@ ® 6 0

Task 2: PUZZLE TIME!

a) Unscramble each of the clue words.

Af relates an input to an output.

The number that you begin with in a function is called the i ...
If you can graph the function as a straight line, itisa | ... L

The number that is changed by the function rule is called theo ... .

F O U TTI C NN
7 14 12 9
T U F N N ¢ O T E L B A
13 1 4
F I N U C N T R L E UV
10 3 6
U T P N
8
P UU T T
1
D O R R D E A R P I
5 2

b) Then copy the letters in the numbered boxes to the boxes with the same number.

1 2 3




LINEAR FUNCTIONS

Complete the table. Write each word in the boxes below.
Next to the word write its meaning, and in the last box
draw a picture or give an example.

function  input  output  function rule
function table  ordered pair  linear function

KEYWORD MEANING PICTURE or EXAMPLE




Grade 7 Semester 1 Lesson 11

‘ KEYWORDS: interior angle exterior angle supplementary angle complementary angle )

\<1400
i \
8 N\ S

N
supplementary angle

complementary angle
interior angle
<400 .
, exterior angle

¥t
Hello, girls. Today we are going o talk about angles. Look at
the board and tell me about these angles.

Yes, Mrs Hessa. An interior angle is the angle inside a shape.
An exterior angle is the angle outside a shape.
Complementary angles are two angles that add up to 90°.
Supplementary angles are two angles that add up to 180°.

How can we
remember that?

C for Complementary stands for Corner of 90°. h_
S for Supplementary stands for Straight angle of 180 °. LN

So that's C for Corner...and S for
Straight angle!




Task 1: LABEL.

Use these terms to label each angle.

supplementary angle interior angle =~ complementary angle  exterior angle

\

139° 41°




Task 2: PUZZLE TIME!

Work in pairs.
Do the crossword.

r
Across
4) Two ... angles equal 90°.
D 1) ... means outside
o
W 2) means inside.
n
3) Two ... angles

equal 180 °.

Task 3: LET’'S TALK.

My angles add up to 180°. What am I?

My angles add up to 90°. What am I?

I am outside a shape. What am I?

I am the angle inside a shape.
What am I?



Task 4: COMPLETE

Use these words to complete the sentences.

QO0OO0ddeC

outside supplementary straight corner inside right
A supplementary angle makesa ... line.
A complementary angle makes a ... angle.
Whenweaddtwo ... angles together, we get a straight angle.
An interiorangleis ... a shape
An exteriorangleis ... a shape
When we add two complementary angles together, we makea ... angle

Task 5: MATCHING.

a) Anangle of 40° and an angle of 50° make this angle. (e
b) Anangle of 120° and 60° make this type of angle. straight line
c) Anangle inside ashapeiscalledan ... angle. exterior

d) Anangle outside ashapeiscalledan ... angle. right angle




Complete the table. Match the keywords listed below with
/)2 either the meaning or picture/example. Fill in all blanks in
all columns: keywords, meaning, picture or example.

interior angle  exterior angle
supplementary angle  complimentary angle

KEYWORD MEANING PICTURE or EXAMPLE

The angle inside a shape.

exterior angle

supplementary angle

Two angles that add up
10 90° .



Grade 7 Semester 1 Lesson 12

transversal  interior angle  exterior angle
KEYWORDS:

corresponding angle  vertically opposite angle

vertically opposite  corresponding angles
transversal angles (4 and 6) (3 and 6)

7 7

£~ exterior angles interior angles

'&%7 (1&3)(4&2) B5&7)(8 &6)
NG ¢

/. — AL,
—7 Z .‘\yf/,

Sir, can you tell us about different kinds
of angles? Also, what is a transversal?

Look at the board. A transversal is a line that crosses two or more lines.
Interior means inside, so an interior angle is inside a shape. Exterior
means outside, so an exterior angle is outside a shape. Now, can you tell
me about corresponding angles and vertically opposite angles?

-

Correspond means 'matches with', so corresponding angles are angles in
the same position on another line and they are equal.

When two lines cross each other, they make vertically opposite angles.
These are two sets of angles that are opposite and equal to each other.

Task 1: MATCHING.

Draw lines to match each term with its meaning.

@ exterior a) a line that crosses other lines
@ vertically opposite b) inside

© correspond c) outside

@ transversal d) match with

@ interior e) opposite and equal to each other



Task 2:

Choose the correct word from the box to complete the sentences. Use each word once.

exterior transversal interior corresponding

[ 1 L angles are inside a shape.

O e angles are outside a shape.
[ 3 angles are equal to each other.
O The is a line that cuts two or more lines.

Task 3: MATCHING.

Draw lines to label the pictures.

)z € corresponding angles

@ vertically opposite

/a)
© interior angles (x2 A
( )k} | /\ |

@ exterior angle

/—150"

180 \\<

Interior angle

@ transversal



Task 4: PUZZLE TIME!

Work in pairs to the crossword puzzle.

Across

3) A is a line that z
crosses two or more lines.

5) oo angles are inside 3 n
a shape

D 1) means ‘to match’
o
w2 angles are in the same
n .
position and are equal.
4 angles are outside
a shape

Task 5: LETS TALK!

Ask and answer the questions with your friend.

What is another word for 'matches with'?

What does exterior mean?

What's the opposite of exterior?




Complete the table. Match the keywords listed below with
/)2 either the meaning or picture/example. Fill in all blanks in
all columns: keywords, meaning, picture or example.

exterior angles transversal interior angles
corresponding angles vertically opposite angles
KEYWORD MEANING PICTURE or EXAMPLE
transversal A line that crosses two or

more lines.
Angles inside
a shape.
exterior angles ?%

C

- B/?D//:E
v

Z ABD = £ CDE

. . Two angles that are opposite
vertically opposite each other

angles when 2 lines cross.



Grade 7 Semester 1 Lesson 13

| isosceles triangle equilateral triangle scalene triangle
KEYWORDS: . . . _
right triangle  acute triangle obtuse triangle

Huda, Sheikha and Maha are learning about triangles.
Read and listen to the lesson. Then, do the activities.

309
70°
30° 809 40° 110°

right triangle acute triangle  obtuse triangle

60° 70°
60° l 60° 60° 1 50°
J

. . . ! . .
isosceles triangle equilateral triangle scalene triangle

Hello, class. Today, we are looking at angles in triangles. The
sum of the 3 angles in a triangle is always 180°. How can that
fact help us calculate each angle in a triangle?

I know! If we know 2 angles, we can find out the third angle.
We just subtract the sum of 2 angles from 180°. An equilateral
triangle is easiest. Since the sides are equal, all three angles are
the same. 180° divided by 3 is 60°.

That's correct Huda. Anisosceles triangle is also easy because
it has two equal sides and two equal angles. A scalene triangle
has no equal sides or angles, so you need o know 2 angles to
calculate the third.




Does anyone remember how we classify
triangles by their angles?

I love
triangles

I remember! A right triangle has one 90° angle and
2 acute angles. An obtuse triangle has one obtuse
angle and 2 acute angles. An acute triangle has
3 acute angles.

Equilaterals are my

favorite triangles!

Yes! So an equilateral triangle is always an acute triangle
because each angle is 60°.

Task 1:  MATCHING.

Draw lines to complete each sentences.

@ Anequilateral triangle a) has two equal sides and two equal angles.
@ Anisosceles triangle b) has one angle between 90° and 180°.

© Anobtuse triangle c) has 3 angles less than 90°.

© Anacute triangle d) has one 90° angle.

@ A right-angled triangle e) has 3 equal sides and angles.



Task 2:  TRUE or FALSE.

Are the following sentences true or false? Correct the false sentences.

@ A triangle has 3 sides and 3 angles. TRUE
@ Anisosceles triangle has 3 sides and angles the same. ...
© Anequilateral triangle has a right angle .
@ A scalene triangle has no sides or angles the same.
(5

An obtuse triangle has a right angle.

Task 3: MULTIPLE CHOICE!

Choose the correct answer. Is it a, b or ¢c?

O A/AN triangle has 3 angles and sides the same.
a) isosceles b) equilateral c) right
O A/An triangle has an obtuse angle.
a) right b) scalene c) obtuse
© A/AN triangle has 3 different sides and angles.
a) scalene b) equilateral c) right
O A/AN triangle has 2 sides and angles the same.

a)isosceles b) scalene c) acute




TRIANGLES

Task 4:  LET'S DRAW!

Unscramble the letters and draw the correct triangle that illustrates each word.

€ selisceso @ elenasc € esubto

Task 5:  LET'S TALK!

Ask and answer these questions.

What different

triangles do you know? There is a/an..

&
2

An acute triangle has...




Complete the table. Match the keywords listed below with
& either the meaning or picture/example. Fill in all blanks in
all columns: keywords, meaning, picture or example.

acute triangle equilateral triangle scalene triangle
right triangle obtuse triangle isosceles triangle
KEYWORD MEANING PICTURE or EXAMPLE

A triangle with all angles and

equilateral triangle all sides congruent.

A triangle with two congruent
sides and two congruent angles

scalene triangle

A triangle with one right
angle.

A triangle with three acute i i

right triangle

angles all less than 90°.

obtuse triangle
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FOUR-SIDED SHAPES

‘KEYWORDS: quadrilateral  rectangle  parallel  parallelogram  rhombus )

quadrilateral: a four-sided shape.

f 7 ]

rhombus rectangle square

All these are parallelograms.

What's a quadrilateral, Sir? It sounds difficult. The shapes on the
board are quadrilaterals (KWA-DRI-LA-TER-ALS).
Can you tell us what a quadrilateral is?

Yes, I can. A quadrilateral is any shape with four straight
sides. Can you tell me about a square and a rectangle,
Khalid?

Yes. A square has four equal sides and four right angles. A
rectangle has two pairs of equal, opposite sides and four right
angles. But what does parallel mean, and what is a parallelogram?

Parallel lines are straight lines which always stay the
same distance apart. You can see that the square and the
rectangle both have 2 sets of parallel lines. A parallelogram
is a four-sided shape with all its opposite sides parallel. All
the shapes on the whiteboard are parallelograms. A rhombus
is a parallelogram with congruent (equal) sides and congruent

opposite angles. Like this. ﬁ

mxa /



FOUR-SIDED SHAPES

Task 1:  TRUE or FALSE.

One of these sentences is FALSE. Which one is it? Explain why.

@ A rhombus has four equal sides. TRUE  FALSE

@ A rhombus has four equal angles. TRUE  FALSE

€ A rhombus is a quadrilateral and a parallelogram. TRUE  FALSE
Number ... is FALSE, because ...

Task 2:  WHAT SHAPE AM I?
Write the names of these four-sided shapes. Then DRAW THE SHAPE!

4 N
All my sides are the same length, but my
angles aren't all equal.
What shape am I? ...
N\ J
e N
All my angles are the same and so are
all my sides.
What shape am I? ... k D
4 )
All my angles are 90° and I have two
pairs of sides that are the same length.
What shape am I? Draw me here. \_




6

I@@Q@@G

FOUR-SIDED SHAPES

Task 3:  MULTIPLE CHOICE.

Choose the correct answer. Is it a, b, or ¢?

€@ Lines that are the same distance apart all the time are .......

a) parallel b) rectangular
@ Arhombushasequal ... angles.
a) parallel b) right

€ Rectangles and squaresare both ... ... :

a) rhombuses b) parallelograms

@ Rhombuses, rectangles and squaresareall ...

a) parallelograms b) quadrilaterals.

Task 4:  TRUE or FALSE
Look at this shape. Are the sentences TRUE or FALSE?

AN
This is a rhombus. TRUE
It has equal opposite angles. TRUE
It is a quadrilateral. TRUE
Two angles are more than 90°. TRUE
All angles are the same. TRUE
Opposite sides are parallel. TRUE

¢) rhombuses

c) opposite

c) exactly the same.

c) Bothaandb

FALSE

FALSE

FALSE

FALSE

FALSE



FOUR-SIDED SHAPES

Task 5:  LET'S TALK.

Ask and answer these questions about triangles:

What's a quadrilateral?
What is a rhombus?

What's the difference between
a rhombus and a square?

Task 6: PUZZLE TIME!

Complete the following crossword. 1 z
Across 3 4
3) A shape with four
congruent sides and four
congruent angles is
Qo
5) This shape@
IS Qi
D 1) Any shape with two pairs
:' of parallel sides is
n Qo : 5
2) This page is an example of
this shape.
4) Any shape with four
straight sides is

Easy! It's ashape..

A rhombus is...

A rhombus is...
but a square is...




FOUR-SIDED SHAPES

Complete the table. Match the keywords listed below with
/)% either the meaning or picture/example. Fill in all blanks in
all columns: keywords, meaning, picture or example.

parallel rectangle rhombus
quadrilateral parallelogram

KEYWORD MEANING PICTURE or EXAMPLE

Any shape with four

quadr' lateral straight sides.

rectangle

Two lines that always stay the
same distance apart.

A four-sided shape with all

parallelogram its opposite sides parallel.

A parallelogram with
congruent (equal) sides and
congruent opposite sides.



Grade 7 Semester 1

Lesson 15 GRADE 7 Qu,z

Task 1:  CAN YOU REMEMBER THE KEYWORDS FROM
THIS SEMESTER?

Complete the table. Match the keywords listed below with
)z either the meaning or picture/example. Fill in all blanks in
all columns: keywords, meaning, picture or example.

decimal negative integer absolute value index/exponent/power
cubed square root radical sign /' additive inverse squared equation

KEYWORD DEFINITION PICTURE or EXAMPLE
The product of using the 23
1 base as a factor three
times. 2xXex2=8

A symbol that means the

e radical sign root of a humber.
3 hegative integer -3

The product of using 42
4 the base as a factor two

times. 4x4=-16
«— fHf—— 66—
S A A A A A

5 -8-7-6-5-4—3-2—1012345678

6]




GRADE 7 QUIZ

KEYWORD DEFINITION PICTURE or EXAMPLE

The expression on the

6 left of the equal sign
is equal to the number

expression on the right.

X+2z=6

7 additive inverse 3+ @= 0]

The number used as a

factor two times to give
8 J \l 9

the number inside the
radical.

s

a number that uses a
. decimal point followed
9 decimal by digits that show
values less than one

exponent 2
10 index 9
power




GRADE 7 QUIZ

Task 2:  MATCHING

Help us draw lines to match the words with
their correct meaning or picture.

€ rhombus a) jy

@ closed circle
b)

€ x-axis

@) isosceles triangle

@ opencircle

( y-coordinate

f) ﬁif
@ vertically opposite angles 4

n<3

9

@ parallelogram 1 2 3 4 5
h) -2>5y-7

@) transversal

(@ inequality i) i




GRADE 7 QUIZ

Task 3: MULTIPLE CHOICE!

Choose the correct words to complete the following sentences -
O The is the number changed by the function rule.

a) function b) input c) output
O A makes a straight line when it is graphed.

a) linear function b) function rule c) function table
© The . is the change applied to the input to make the output.

a) linear function b) function rule c) function table
O A is any flat shape with four straight sides

a) friangle b) polygon ¢) quadrilateral
@ A has four straight sides and four right angles.

a) triangle b) rectangle ¢) quadrilateral
() Twoanglesare ... if they add up to 180°.

a) supplementary b) complementary c) interior
@ Angles on the inside of ashapeare ... angles.

a) supplementary b) complementary c) interior
€@ Twoanglesare . ... if they add up to 90°.

a) supplementary b) complementary c) interior
©) A triangle with no equal angles or sides is a/an ... triangle

a) acute b) scalene c) equilateral
() A triangle with an angle that is>90%isa/an ... triangle.

a) scalene b) obtuse c) equilateral



GRADE 7 QUIZ

JUST FOR FUN!
When you have completed the quiz and checked your answers,

read these cartoons. On the next page, make your own cartoon
about any keyword you learned this semester.

Copyright 1996 Randy Glasbergen. www.glasbergen.com

The gquare root of 9 is 3.

A) True.
B) False.
C) Who cares?

JTI

GLAS

Many students actually look forward
to Mr. Atwadder’s math tests.




GRADE 7 QUIZ

ACTIVITY: Use any keyword and draw a cartoon to illustrate it.
Write the keyword in the box

My KEYWORD:




X-axis

quotient a2

The answerin a division
problem.

opposites
and

Two integers that are the
same distance from zero on a
number line.

A triangle with one right
angle.

sequence

radical sign J

A symbol meaning the root of the number
following it.

For example /81 = 9

@
r
O
)
)
>
.Y
<




AJVYSSO19

absolute value

(bg. 14)
How far a number is from zero on a
number line.

acute triangle

(pg. 57)
A triangle with three acute angles all

less than 900

2.34
addition of decimals +115
(pg 10) 3.49

To add decimals, line up the decimal
points and add.

additive inverse “2 * g ) g
(pg. 19) toeT

The numbers you add to another number
to get zero.

The negative of a number.,

ascending order

(pg. 14) -2,-1,0 1,2 3

An arrangement of integers from lowest
to highest.

base 103 = 10x10x 10

(pg. 22)
The number used as a factor.

In 103, the base is 10.

C

closed circle =+ttt

1 2 3 4 5
(bg. 37)

The solution of the inequality includes
the number shown on the number line.

coefficient oo

(bg. 27)
The number used to multiply a variable.

comparing integers -7 < +3

(pg. 14)
Using > or < or =, to show if numbers are
larger, smaller or equal to each other.

complementary angles

(pg. 48)
Two angles that add to 900 .

coordinates (2,1)

(bg. 42)

Two numbers that show an exact point
on a graph.



corresponding angles
(pg. 53)

—

/9

Angles in the same position on another
line.

cubed

(pg. 22) 2=2x2x2-=8

To use the base as a factor three times.

D

decimal

4.25
(pg. 10)

A number that uses a decimal point
followed by digits to show values less
than one.

descending order
(pg. 14)
5,43 21,0 -1, -2.

An arrangement of integers from
highest to lowest.

dividend  472F

(pg. 10)
The number that is being divided.

divisor

2
(pg. 10)

The number you divide by.

E

equation

(p9. 27)
A maths sentence that contains an
equal (=) sign.

4x+ 3y =24

equilateral triangle

(pg. 57)

A friangle with three
equal angles (60° ) and
three equal sides.

exponent 43 = 4 x 4 x 4
(pg. 22)

Tells us how many times to use the base
as a factor.

In 43, the exponent is 3.

expression

(pg. 27)
Has numbers, variables and operation
signs (+ - x), but no equal sign.

exterior angle / ;
(pg. 48, 53)

The angle outside a shape.

4x+ 3y

@
r
O
)
)
>
7y,
<

I
o1



factor 6 x4=24 .

5,19 graph I

A number that is multiplied by another (pg. 42) |-

number. A chart H— Ea——
that shows

relationships between numbers. We use

function 3—>ﬁ—>6 bars or lines.

(pg. 45)
Relates the input to the output ina

specific way. greater than >

(pg. 37)
The number on the left is larger than

function rule the number on the right.

(pg. 45)
An expression that describes the
r'eLa‘rifrmship between each input and greater t+han or equa| to >
output.
P (pg. 37)
The number on the left is larger than,
. Input (x) | Output (2x - 7) or the same as, the number on the right.
function table ;
(pg. 45)

A table used to
organize the input
numbers, output
numbers, and the function rule.

BN |- e
a b

~

index 32=3 x 3

(bg. 22)
Tells us how many times to use the base
as a factor.

Same as exponent or power.

AJVYSSO19




inequality

(pg. 37)
A mathematical sentence that contains

<,> #,=<,=.
input \2 x 3 = 6

(pg. 45)
The number you begin with when using a
rule or function.

infeger -2, -1,01, 2 ..

(pg. 14)
A number with no fractional part.

interior angle K ‘

(pg. 48, 53)
The angle inside a shape.

isosceles triangle

(pg. 57)
A friangle with at least
sides of the same length.

less than <

(bg. 37)
The number on the left is smaller than

the number on the right.

-3<-1

less than or equal to <

(pg. 37)
X+2 <

The number on the left is smaller than
or the same as the number on the right.
like terms

o Y *ey

Terms with exactly the same variable.

linear function

(bg. 45)
The rule that generates a straight line
on a graph.

M

multiplication of decimals

(pg. 10)
4.2 x 3.8 =15.96

The product must have the same

number of decimal places as those in
the factors.

N

negative integer -3

(pg. 14)
An integer that is less than zero.

@
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AJVYSSO19

nth term 2,4, 6, 8, ..nth

(pg. 31)
Any tferm in a sequence.

0

A

obtuse friangle %>

(pg. 57) °

A friangle with one obtuse angle which
is between 90° and 180° .

open circle —

(pg. 37)

The solution of the inequality does
not include the number shown on the
number line.

opposites -3and 3

(bg . 19)
Two integers that are the same
distance from zero on a number line.

ordered pair (4,8)

(pg. 45)
A pair of humbers used to name a point
on the coordinate grid.

ordering integers

(pg. 14 )
Arranging according to some rule.

output input x4 output
(bg. 45) — 3 —> 12

The changed number after a function.

P

parallel

(pg. 62)
Straight lines that always stay the same
distance apart.

parallelogram

(pg. 62)
A four-sided shape with opposite sides

parallel.

position-to-term

(pg. 31)

3, 6, 9,

Ist an 3rd 47‘/1

Using the position of a term to find a
rule for any term.

positive integer 1, 2, 3, ...

(pg. 14)
An integer that is greater than O.



power & =6x6

(pg. 22)

Tells us how many times to use the base
as a factor.

product 3x8=24

(pg. 19)
The answer to a multiplication problem..

0

quadrilateral

quedrilsteral QY

Any shape with four straight sides.

quotient 4)51)_

(pg. 62)
The answerin a division problem.

R

radical sign J

(pg. 22)
A symbol meaning the root of the

number following it.
For example /81 = 9

rectangle

(pg. 62) 3
A quadrilateral
with four right = 7
angles; opposite

sides are equal and parallel.

rhombus

(bg. 62) ‘

A parallelogram with four congruent
sides.

right triangle

(bg. 57)
A triangle with one right angle.

S

scalene triangle i

(pg. 57)
A friangle with no sides or angles the

same.

sequence - 4 -2 0 +2 +4

(bg. 31)
A list of numbers in a special order.

AJYSSO19
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solution of an inequality

(bg. 37)
The answer to an inequality.

squared 42 is4x4

(bg. 22)
To use the base as a factor two times.

square root J16 =4

(bg. 22)

The number used as a factor two times
Yo give the number inside the radical
sign.

3.96

subtraction (of decimals) _,,

(pg. 10) 2 54
To subtract decimals just line up the
points and subtract.

supplementary angles
(bg. 48)

1100/‘/700

Two angles that add upto 1800

term

(pg. 27, 31)
0,246 8.0 2x+3-y

Each number in a sequence.In algebra: A
single number or a variable, or numbers
and variables multiplied fogether in an
expression.

term-to-term

(bg. 31)
Using the difference between two
terms to find the next term in a
sequence.

transversal

(bg. 53)
A line that intersects two or more other
lines.

variable

(bg. 27)
A letter that takes the place of an
unknown number.

3+a=7.



vertically opposite angles

(pg. 53)
‘I‘x
y-axis - I ‘
, (pg. 42)
Two angles that are opposite and equal A vertical line on a coordinate plane
to each other. that goes through zero.

y-coordinate  (x)y) (4,6)

(pg. 42)
The second number in an ordered pair.

X-aXiS x I »
(pg. 42) 1

A horizontal line on a coordinate plane
that goes through zero.

x-coordinate (x.y) (4,6)
(pg. 42)
The first number in an ordered pair.
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SCIENTIFIC ENGLISH
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GRADE 7






Grade 7 Semester 1 Lesson 1

GRADEIGIREVIEW,

Look at the keywords column in the table below (from Grade 6).
Jz Rewrite each word in the next column. Next to the word write its
meaning, and in the last box draw a picture or give an example.
The first one is done for youl

KEYWORD REWRITE MEANING PICTURE or EXAMPLE

Type of teeth at
Molars back of mouth used
for crushing and
grinding food

Esophagus

Reversible
change

84



KEYWORD

Irreversible
change

REWRITE

GRADENGIREVIEW,

MEANING

PICTURE or EXAMPLE

Evaporation

Spectrum

Gravity
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Grade 7 Semester 1 Lesson 2 @@E@ﬂﬂ&ﬂ@E@ @E&&@ ﬂ

™ cell organelle cell membrane cell wall nucleus
KEYWORDS:

chloroplast mitochondria

Cell wall
Cell membrane

Nucleus

Cytoplasm

A cell organelle is a special part of the cell that has a
special job. There are many organelles. Look at the
board and tell me about them.

The cell wall protects the

cell. The cell membrane The nucleus controls
lets materials in and out. activity in the cell.
Animal cells do not have a The mitochondria make
cell wall. energy for the cell.

Only plant cells have chloroplasts.
Chloroplasts use energy from the sun to
make food for the plant.
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SPECIADISEDICELLSHT

Task 1:

Draw lines to match the two parts of the sentences.

O The nucleus a) is part of the cell that has a special job.
A The cell wall b) controls activity in the cell.

© A cell organelle c) lets things in and out.

O The mitochondria d) make energy for the cell.

@ The cell membrane e) protects the cell.

16/ Chloroplasts _———> f) make food for the plant.

Task 2:

Work with your partner and correct the underlined words.

O The eeltwall is the control centre of the cell.

O The ehtoreplastsprotect the cell.
© The ntetetsimakes energy for the cell.

(4 Mitechondriajnake food for the plant.

ANIMAL
CELL
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SPECIALISEDICELLSE]

Task 3:

Use the words from the box below to complete the sentences.

food _ organelle sell membrane  chloroplast

energy

O The mitochondria make. .| . )

Task 4:

Choose the correct answer. Is it a, borc ?

O The protects the cell.

a) nucleus c) mitochondria

@ Water, carbon dioxide and oxygen go through the ... ... ... ... .

a) chloroplast b) mitochondria c

O The controls what happens inside the cell.

a) cell wall b) mitochondria

0 An animal cell doesn't havea ... ... ... .

b) nucleus c) cell membrane
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Task 5:

SPECIADISEDICELLSHT

Play this game with your partner and ask the following questions.

Don't forget to take turns.

I make energy for the
cell. What am I?

=

I protect the cell but

you will not find me in%}
animal cell. What am I?

Task 6: PUZZLE TIME!

Fill in the puzzle.

Across
4) The cell — .. lets things in and out.
5) The cell —, ... . protects the cell.
6) The .. ... controls activity inside the cell.
1) The = ... make energy
D
for tHe cell.
o
w 2) Acell . . .. is a special
n part of cell

with a special job.

3) A ? ...... makes food for the

pla

T control activity in the
cell. What am I? @

I am a special part of the cell
with a special jobg%‘jha‘r am I?

I make food for the plam‘%ha‘r am I?
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Grade 7 Semester 1 Lesson 3 @@E@ﬂﬂ&ﬂ@E@ @E&&@ @

\\
FEYWORDS: cytoplasm nucleus chloroplast vacuole chlorophyll ]

Animal cell Plant cell

cell membrane—

chloroplast

vacuole

cell wall

Look at the cells on the board
and tell me what you see.

Ok! T'll start. Plant and animal cells have cytoplasm, a cell membrane
and a nucleus. Chemical reactions happen in the cytoplasm.

The cell membrane controls what goes into and out of the cell. The
nucleus controls what happens inside the cell and has information to
make a new living thing.

Plant cells have chloroplasts. They have chlorophyll.
This takes the sun's energy to make food for the plant.

The vacuole in plant cells has a liquid made of salt and sugar
called cell sap that keeps the cell firm.

The cell wall supports the plant cell and gives it shape.
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SPECIACISEDICELLSY2

Task 1:

Match the two parts of the following sentences. Draw lines.

0 The cell membran ) keeps the cell firm.

® Chemical reactions b) controls what happens inside the cell.

(3] The nucleus c) supports the cell.

(4 The vacuol d) happens in the chloroplasts.

O The cell wall e) controls what goes info and out of the cell.

(6 Photosynthesis f) happen in the cytoplasm.

Task 2:

Choose the correct answer. Is it a, b, or c ?

O vouwill find , and a nucleus in plant and animal cells.

a) cytoplasm, a cell membrane 5) a cell wall, chloroplasts c) vacuole, chloroplasts

9 We call the nucleus the 'brain’ of the cell because it ... . . . . ...
what happens in the cell.

a) supports b) makes

©® contain/s chlorophyll.
a) Sunlight @hlomplasD c) The nucleus
© The liquid inside the ... ... . . is called cell sap.
@ b) nucleus c) cell wall
Othecellwall the cell,

b) makes c¢) controls
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Task 3:

SPECIALISEDICELLSY2

Work with your partner and correct the underlined word in each sentence.

(1] _Photosynthesis happens inside the pucleus. @

(2] Liquid in the vacuole is made of sugar and chlorophyll.

(3 The vactele gives the plant cell shape.

(4 The ehteroptast has information to make new living cells.

(5] Only plant cells have chloroplast, a cell wall and acell membrane. ...

Task 4:

Label the following diagrams: write in the boxes!

1)

92

Write the
labels for
diagram 1
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2}

silsllslls



i.asif
Inserted Text
controls what 

i.asif
Inserted Text
cell

i.asif
Sticky Note
or underline nucleus and change to Chloroplasts

i.asif
Inserted Text
salt

i.asif
Cross-Out

i.asif
Replacement Text
cell wall

i.asif
Cross-Out

i.asif
Replacement Text
nucleus

i.asif
Inserted Text
vacuole

i.asif
Inserted Text
 plant cell

i.asif
Inserted Text
animal cell - this should be the title!
the arrows points to the nucleus

i.asif
Inserted Text
chloroplasts

i.asif
Inserted Text
cell wall

i.asif
Inserted Text
vacuole

i.asif
Inserted Text
nucleus

i.asif
Sticky Note
cytoplasm

i.asif
Sticky Note
cell membrane


SPECIACISEDICELLSY2

Task 5:

Find the following words in the wordsearch below:

4 ™
NKDG6YZCVFJIJITXQO
UFGFLZUJZB|SYAY
COGCMTGPZ|APIVW
oV C SOML|LIAE N
PV|CE
o RrRlO L CHLOROPHYLL
IFLULO\SH R V|U L CHLOROPLAST
vV Vv o J|L s CYTOPLASM
KCYBOO L SIE T NUCLEUS
6 X FBR HEKM VACOULE
XVEOKVG6ISsSPBCBQZ
VELAQQLKHNNEFZIS > /
EHVUPBWVCPFGV SK
¢/LKYCLJIEYKGPSARQ
X TMWRMMREKNHIGO )
Task 6:

Play this game with a partner. Ask your partner the following questions.

I support the cell and give it shape.
What am I? @

Chemical reactions take place inside me. What am I?@

I control everything inside the cell.
What am I?

I have a mixture of salt and sugar called cell sap.
What am I? @
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Grade 7 Semester 1 Lesson 4 M@Mﬂw
REPRODUCITIONE]

fertilisation  oviduct  ovary  uterus  testes
KEYWORDS:
embryo  foetus

Female Reproductive Organ

Male Reproductive Organ

oviduct

uterus

- - T - pT— ' 3

Sir, can you tell us about ‘
human reproduction? s ‘ (§

Fertilisation happens when the male and the
female sex cells join. The male has two testes
that make male sex cells. The female has two
ovaries that make and keep her egg cells.

The male cells go into the uterus where one male cell
joins with the female cell. The female cell is fertilised
and divides info a ball of cells called an embryo.

The embryo becomes a foetus and then a baby.
That's how humans reproduce.
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HUMANIRERRODUCTIONE

Task 1:

Match the two parts of the sentences. Draw lines.
Fertilisation happens

The testes b) join in the uterus.

) c) becomes a foetus.
The ovaries ) f

A fertilised cell

e ake male sex cells.
The embryo ) makem

@ ®© ©0 ® ©®© ©

The male and female cells

Task 2:

Choose the correct answer. Is it a, b, or ¢?

(1) The male hastwo ... .

a) eggs b) testes c) embryos

(2] Egg cellsareinthe ... ... ... ... )

b) testes c) kidneys

© Ferfilisation happens.inthe ... ... .. :

b) testes c) testis

© The fertilised cell divides into many cells calleda/an ... ... :

a) foetus c) ovary

O The becomes a baby.

b) ovaries c) testis

a) divides to become an embryo.

d) when a male and female sex cell join.

f) make and keep female sex cells.
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HUMANIRERRODUCTIONST

Task 3: Work with a partner. Choose a word from the box below to complete the paragraph.

testes foetus ovaries

embryo (x2)
N>
The (1) ... — ake male sex b’»‘ 2) ...< . keep the egg cells. The

he egg cell is fertilised here

—

becomes a (6)

Task 4: PUZZLE TIME!

Fill in the puzzle.

Across
2
4) A fertilised cell divides to become a/afy ... N
5) Male and female cells join in they.............. :
4

5 ) happens when the male and female cell join.

1 rJ) keep egg cells. —

3 3) The..... becomes a baby.

L 6) @ ............. make male sex cells

Task 5:

Work in pairs.

Ask your partner to answer the following questions.

p)
WhalliecheRibaaieniai enlcell What does a fertilized cell become?

What does an embryo become? Where does fertilization happen?

What makes male sex cells?
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Grade 7 Semester 1 Lesson 5 W@Mﬂm
REPRODUCTIONI2

N
EE\/WORDS: gametes  umbilical cord  placenta amniotic fluid  ovulation j

Organisms have sex cells called gametes. In human beings, the male
sex cells are called sperm and the female sex cells are called eggs, or
ova. Sexual reproduction happens when a male gamete and a female

gamete join. This is called fertilisation!

}‘.—..L

Fertilisation

Zyg;n'e

Sper'mi

Sir, can you tell us more about human reproduction?
What happens after fertilisation?

6k...Let's start from the beginning!

As you know an egg cell is produced about once a month by the female.
This is called ovulation. Fertilization may take place in the oviduct. After
this an embryo is formed. As it grows, it is called a foetus.

As you can see in the diagram, the baby is in a fluid-filled sac, The liquid is
\called the amniotic fluid. )

Ahl Ok I get it! This joining of gametes is called fertilisation.
Ok, what about the EMBRYO? How does it survive?

(" The embryo is looked after by the placenta.
It is an organ that allows food uptake, waste
to go out, and gas exchange via the mother’'s
placenta blood supply. The umbilical cord is the tube
that connects the baby and the placenta.

umbilical
cord

fluid The womb, also called a uterus, protects the
baby from pressure inside and from outside.

\_ It is astrong muscle.

fetus




HUMANIREPRODUCTIONF2
Task 1:

Use the words from the box below to complete the following sentences:

day, week, embryo, oviduct, uterus, month,
ovary, foetus, womb, amniotic fluid

Egg cells are produced at the rate of about one every, ...
Fertilisation may happen while the eggisinthe ...
Just after fertilisation, an................ is formed.

Later in pregnancy the developing baby is called ...

© © ® © @

The foetus is surrounded by a liquid called ...

Task 2:

Match the questions on the left with their correct answers.

QUESTIONS ANSWERS

What is fertilisation? a) Once a month

Where is the sperm produced? ) Inthe ovaries

c) When the nucleus of a sperm joins

Where are the eggs produced? with the nucleus of an egg

©O & © ©

How often are egg cells released by th

. ) In the testes
ovaries?

©

Where does fertilisation normally take place?"¢) In the oviduct.
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Grade 7 Semester 1 Lesson 6

VARIATIONE]

™ variation characteristics inherited variation
KEYWORDS:

environmental variation

Discuss the inherited variation in theses faces! Environmental variation

Hello, Sir.

Canyou tell

us about Variation is the way living things look a0 (§
variation? different from each other.

We all have different characteristics.

They show how things are different from others.

They show how things look and act differently.
What are Look at the board and tell me about inherited
characteristics? variation and environmental variation?

Inherited variation is the group of characteristics we
get from our parents. Brothers look different because
they inherit different genes from their parents.

Environmental variation is the surroundings that make
living things look and behave differently.
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VARIATIONET,

Task 1:

Match the characteristics with their suitable descriptions. Draw lines.

a) We look a little like our father and a
little like our mother.

(1) Environmental variation
b) I speak English and my brother speaks
Arabic.

c) Different genes make us look
different.

[2) : .
Inherited variation —————— 5 d) Things around us make us behave and
look different.

Task 2:

Look at the photo of identical twins Jane (left), and Susan (right). Susan smokes but
Jane doesn't. Susan also loves the sun.

Smoking, stress and the sun change the way we look.

s '_"_,u" :
Jane |

Choose the correct answer to complete the sentences below.

@ The twins look different from when they were born because of

.................................................................................................................. (inherited variationéenvironmental variafiom)

@ The twins look different at the age of 61 because of ...

(inherited variation/ @en‘ral var@
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VARIATIONET,

Task 3:

Answer the following questions.

@ Are children always the same as their parents?

® Are two brothers always the same?

Task 4:

Ask a partner the following questions.

(1) What is variation? 9 What are chamc‘rerisﬁcs@;

0 What is environmental

9 What is inherited variation?
@ variation?
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Grade 7 Semester 1 Lesson 7 Wﬂ@ﬂﬂfﬂ@w 2—’)

&E\/WORDS:\ generation  selective breeding  desirable characteristics )

BULLDOG

MASTIFF
« | big, strong, good

fa?'h\:i” '\ friend, no speed,
9 won't fight
BULLMASTIFF
big, fast and quick,

strong, will fight

Sir, can you tell us more

@ about variation?

- Yes, let's start with desirable characteristics. Characteristics are
L%,‘ \‘ things that make you different. Desirable is something you want.

" | Desirable characteristics are things you want. These characteristics

are good and useful. Do you know anything about selective breeding?

Selective breeding is when we choose organisms so that the new organism
has the characteristics you want. Farmers do this to get the best animal.

I see. So they intervene or get involved or step in so that the next
generation of animals will have the characteristics they want.

What is a generation?

This is when children grow up and give birth.
They're called the next generation.
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VARIATIONS2

Task 1:

Match the two parts of the following sentences

) is choosing fwo organisms so that the new

@ Desirable characteristic . : o
organism will have the characteristics you want.

The next generation b) means 'something you want".

) i5the children who grow up to have new

Characteristics
children.

d) are useful things you want that will make you
different.

) are things that make you different.

Selective breedi

@ © 0

Desirabl

Task 2:

Use the words below to complete the sentences.

desirable generation characteristics

..................................................................... aracteristics are godd and useful things you want in the next
...................................................... . To get this, you intefvene and breed selectively so that the next

generation will have those ... . .7 .. ... :

Task 3:

Choose the correct word from the box below and fill in the blanks.

to breed a dog that ha
different dog by ... ...

produced a different ... .
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Task 4:

Put the steps for selective breeding in the correct order.

VARIATIIONF2

Write the number in the box. Work with a partner.

You want a

cow that makes a lot of milk.

|Now let the new generation of cows that make lots of milk mate.

Do this again and again until you get what you want.

Select cows that give a lot of milk.

|Let only those cows reproduce.

|iIn the next generation, select only the cows that give a lot of milk.

Task 5:

Discuss with your partner what you would do with hens to lay big eggs. Use these words.

(1) Select)

9 Choosg

© Breed,
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Grade 7 Semester 1 Lesson 8 M@@U@@g @@&ﬂ@@
ANDAGAS ESRT

)
EE\/WORDS: solid liquid gas volume particles

SOLID LIQUID GAS

* Keeps fixed shape * Doesn't keep fixed shape* Doesn't keep fixed shape
* Has fixed volume * Has fixed volume * Doesn't have fixed volume
» Can't compress + Difficult fo compress  * Easy to compress

Sir, can you tell us the difference
between a solid, a liquid and a gas?

volume is the amount of space something takes which does not

change. Particles are so small, we can't see them, but everything
we see is made of them. Compress means to push together. Now,
\_look at the board and tell me about solids, liquids and gases.

Solids keep their shape and volume. You can't compress them.

Liquids can flow because their particles slide over one another. They keep
their volume but take the shape of the container.

Gases take the shape and volume of the container
they're in. They're easy to compress.
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Task 1:

Complete the sentences by matching the two parts. Draw lines.

(1) Compress a) are so small that can't see them.
@ volume b) keep their shape and volume.
© Particles c) keep their volume but not their shape.
O solids d) means to push together.
(5 Liquids e) take the shape and volume of the container they're in.
O Gases f) is the amount of space something takes.
Task 2:

Use the words from the box below and fill in the blanks.

lids _ liquids  gases

® —ed e the ghape of the container they're in.
© 7 7 ad. ... ). have fixed volume.
©  7oand o don't keep their shape.

O .o S are easy to compress.

Task 3:

Choose the correct answer. Is it a, b, or ¢?

(1) Liquids have ... ... ... and oo :

a) shape, fixed volume h’@/olume, n@ c) no fixed volume, shape
O solidshave ... and oo :

a b) no fixed volume, shape  ¢) no shape, fixed volume
© Gaseshave ... and oo :

a) no shape, fixed volume b) no fixed volume, shape @Je, ho ﬁx@
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LIPS, SEIH[2S /A0 @S5S )

Task 4:

Play this game with your partner. Ask your partner the following questions.
Don't forget to take turns.

I have volume but no

shape. What am I? ,
You can easily compress me.

What am I?

I have shape and volume.

What am I?
You can't compress me.
What am I?
I have no shape and no volume.
What am I?
Task 5:  PUZZLE TIME!

Fill in the puzzle.

Across I >

3

4) are so small we cannot

see them.
6) is the amount of space ;

something takes.

5
1) means to push together.

D

B 2) keep their volume and shape.

w  3) does not have fixed volume or

" fixed shape.

5) takes the shape and

volume of its container.
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Task 6:

Look at the particle models in the table. Explain what each one is and describe the
particles. Use the following words for each type.

Particle , fixed volume , solid, liquid , gas , compress , shape

solid particles close,
fixed volume,
fixed
shape...cannot
compress
liquid
gas
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' KEYWORDS: freeze melt boil

condense  evaporate ]

CONDENSATION
Water vapour

(gas) cools and
becomes water

To melt is to change a solid to a liquid by
increasing the temperature.

To bail is to heat a liquid until bubbles appear.

To freeze is to change a liquid into a solid by
lowering the temperature.

To condense means to change from a gas to a liquid by cooling.
To evaporate means to change from a liquid to a gas by heating.

EVAPORATION

Sun heats water
to become a gas
water vapour)

(Today we are going to talk about
changes of state. You remember
that there are three states of
matter: liquids, solids and gas.

\_Can you tell me how they change? )
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Task 1:

Match the two parts of the following sentences. Draw lines.

(1) Boiling is when a) gas cools down to become a liquid.

@ condensation is when b) liquid becomes a gas because of heating.

(3) Melting is when a c) changing from a liquid fo a solid by cooling.

(4 Evaporation is when ) you heat a liquid until you see bubbles.

[5) Freezing is e) :er;‘c; :f(;:four::s a liquid after increasing the
Task 2:

Use the words from the box below and fill in the blanks.

Thisis .
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Task 3: Choose the correct answer. Is it a, b, or c?

(1] Melting is changing froma ... by heating.

a) solid to a gas c) liquid to a gas
(2] Freezing is changing froma ... ... by cooling.

a) solid to a gas b) solid to a liquid
© Condensation i changing froma ... by cooling.

a) gas to a liquid ») liquid to a gas c) solid to a gas

©o is heating a liquid until it bubbles.
a) Freezing b) Melting c) Boiling
(5] Evaporation is changing froma ... .. .. by heating.

a) solid to a gas b) solid to a liquig c) liquid to a gas

Task 4: Correct the underlined word in each sentence. Work with a partner.

O water vapour isasgolid)y
O waterisa GE5L

© Iceisakgsidy
(4] Evaporation is the opposite of beththg

(5] Melting is the opposite of eefidensation]

Task 5: Ask your partner to answer the following questions.

What is boilingg What is evaporation?|

What is freezing?,

What is melting?
What is condensation?
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ANDIDIEEUSION

»
GEYWORDS: diffusion expand  contract  gas pressure  concentration ]

DIFFUSION
When the ball is heated, it will not go through the ring; the ball expands.

A heated ball

won't go through [N
the ring. The Gaif ressure @ O

ball expanded. ‘L":'}
‘ I

Gas pressure is the force of a gas against (Todqy we are going to talk

the side of a container. about gas pressure and

Diffusion is when gases move from a place diffusion.

of high concentration fo a place of low Do you know anything about

concentration. them? Look at the board
kand tell me. D

T know. Concentration is the amount of a
substance in a space. The concentration of a
gas is the number of gas molecules in a space. What is

One more question. What do the words concentration?
expand, and contract mean?

Expand means to make bigger and contract means to make smaller.

When particles get hot, they move more and expansion takes place.
When they cool down, they move less and this is called contraction.
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Task 1: Match the two parts of the sentences.

) is a gas pushing against the side of a

o .
The concentration of a gas container.

b) moves from a place of high concentration

Gas pressure .
P to a place of lower concentration.

c) means to make smaller.

o)

Expand

d) is the number of gas molecules in an area.

o

Diffusion is when a gas

e) means to make bigger

o

Contract

Task 2: Choose the correct word from the box below and fill in the blanks.

lower diffusion smaller

©

o To contract meanstomake ...V ... )

Task 3: Discuss this question with a partner and write your answer on the line.

. Does ball A move to ball B, or does ball B move to
o O<«BdlA  ball A> Why?

What do we call this process?
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GASIBRESSUREVANDIDIEEUSION|

Task 4:

Choose the correct answer. Is it a, b, or ¢?

......................................... is the force of a gas against the walls of a container.

a) Expansion b) Concentration

O 1y you force a lot of gas into a small container, the gas pressure will ... . . :

b) decrease c) concentrate

© 4 high concentration of gas means a lot of moleculesina ... ... . space.

a) big ¢) medium

O 1t you open a bottle of perfume in a room, the whole room will smell.

This is because of ... )

a) diffusion b) gas pressure c) concentration

Task 5:

Ask your partner the following questions.

. N
What is diffusion’ What does contract mean?

What does expand mean?

What does concentration of

i ?
What is gas pressure? gas mean:
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Grade 7 Semester 1 Lesson 11 @W@U@M M@
CHEMICAIRCHANGES

( ey N distillation  simple distillation = fractional distillation
K

WORDS:
electrolysis  electrolyte  electrode

fractional distillation simple distillation

) electrolysis
Gas I
20°C H
H 0.74V
_150°C I
i |- B Gasoline /Q/
power supply

200°C (Petrol) ‘ ’
)
1y

— Kerosene l
300°C
_’l‘l_J"l_n’T_l’T_LE

Crude Ol — Diesel Oll

370°C

f\r\/\/\n

= Fuel OIl

Lubricating Oil,
Paraffin Wax,
FURNACE Asphalt

™ T
_JI_Jl_H_II_L:

7 el

&Y

Hello boys and girls! Today, we are studying distillation
and electrolysis. Distillation is a process that uses heat
to separate substances. Now look at the board.

Electrolysis is a process where we split or break apart [ Good! Now tell me
things like liquids or compounds using electricity. about electrolysis.
An electrolyte is a solution that allows electricity to
pass through it.

An electrode is a conductor through which an electric
current enters or leaves a substance.

In simple distillation,the liquids have a big difference in boiling point. There is
only one distillation process and one product.

In fractional distillation, the liquids have a small difference in boiling point.
There are at least two distillation processes and more than one product.
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Task 1: Match the two parts of the sentences.

© 4 solution that lets electricity go through it is an a) simple distillation.

© There is a small difference in boiling point i b) fractiona distillation.

Using heat to separate a substance is called c) electrolyte.

(3]
© There is a big difference in boiling point in d) electrode.
©

The conductor that lets electricity enter and e) distillation.

leave is called an

Task 2:

Choose the correct answer. Is it a, b, or ¢?
© Dpistillation meansto substances by heating.

a) join c) connect

@ Fractional distillation means distilling ... :

a) into many parts b) into one part c) no parts

© Simple distillation means separating a substance ...

a) into one part @b) into many parts c) one time only

.................................................... , the difference between the boiling points of the substances is small.

a) simple distillation <byfractional disillationr—,  c¢) central distillation

.................................................... , the difference between the boiling points of the substances is big.

imple distillati b) fractional distillation c) central distillation

o means using electricity to separate things.

.W b) Electrolyte c) Electrode
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PHYSICALYANDICHEMICALICHANGE'S

Task 3:

Correct the underlined word in each sentence.

(1) An eleetrolysigis a conductor.

(2 An eleetrode is a liquid that lets electricity go through it. ...

© Chemicals can be jetredusing electrolysis.

(4 Distillation is using ieejto separate substances.

(5 Only-efieproduct is formed in fractional distillation.

1
Task 4: PUZZLE TIME!

Fill in the puzzle.

Across

5 S distillation is used
to separate liquids with small 5
differences in boiling point.

) electricity can pass
through this solution

2) is using electricity to
break chemicals up

S § o O

K ) distillation is used to
separate liquids with big differences
in boiling point.

4) Anp is a conductor that allows
electricity to come into and go out
of a substance
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PHYSSICALYANDICHEMICAEICHANGES

Task 5: Choose the correct label for the following diagrams |

furnace
crude &

7 |

/(:‘

BB bbb b

118
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PHYSICALYANDICHEMICALICHANGE'S

Task 6:

label the parts indicated by the red arrows.

Zn anode

Task 7:

Ask your partner to answer the following questions. Don't forget to take turns.

What is simple distillation?
What is an electrode?

What is fractional distillation?

What is an electrolyte?

What is distillation?
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Grade 7 Semester 1 Lesson 12 M@@@QHM@ ﬂm@
DENSITY:

( ey "\ metres centimetres grams kilogram ]
K

WORDS:
mass volume density measure

Measuring physical properties Rulers and tape
¢ measures are used to
— I T N measure, length, width
and height.

i
"7.
o

A balance
measures
weight and
mass.

Mass, volume and density are three physical properties of matter. We
measure these properties using different units. Height and length are measured
in metres and centimetres, and weight is measured in grams and kilograms.
Density is the amount of matter in an object compared to the space it takes up.
It is measured by the relationship between the object’s mass and volume.

N

What tools can we use to measure these physical
properties?

Ok, we use a balance to measure the weight or
mass of something, but what is the difference
between weight and mass?

Good question! Every object has a mass but the objects’ weight can change. The
weight is affected by the gravity (or pull) on Earth. If the object is weighed in
space, its weight would be zero but its mass would stay the same.
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Task 1:

Match the two parts. Draw lines.

O Mass a) is the space that an object takes up.

A balance b) is a measurement of length.

c) can be measured in kilograms.

(2]
9 A centimetre
(4]

Volume d) measures mass and weight.

Task 2:

Choose the correct word/s to complete the following sentences. Is it a, b, or c?

O  We measure the length of asolidusinga ...

a) balance b) unit

e is the relationship between an object’s mass and volume.
b) weight c) height

© wecanmeasure in kilograms.
b) Weight c) bothaandb.

(4] Weusea ... to measure mass.

a) ruler b) balance c) measuring cup

’ \\
% =5, S
% ~S wy, DN
o i :’%&S 'b‘)% '\/\\\§v - )
=Tary %7 S
AT N o, Y N \
N/ s 4&\\\\ M\\;ZYZ\‘ \
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IMEASURINGYANDIDENSITY,

Task 3:

Find the following words in the wordsearch below:
e N

DAUHRNAMOLWGJIMN
EEXDYAEOCREAZJH
NRNMCADRPCCGZA AT
SPBVSDREMTWHLSS ( W\
IQXUBWBLWHSZG6JTQ DENSITY
TIR'SERTEMVUDNXOAE ERANS—
YE/CHLJIGQXOWLHEQO N
WXJIVCMBKXOTINOAOF

OAYAKY ALIONGWHN MASS
FPBZSSEUH Pls z P MEASURE™
BVEQTIZBENGEG M D L METRES
CENTIMETRES L VOLUME )
JCSMROJILCSEG

IUPDKWMWXALXH
(EHSPHEUMMGTC )
Task 4:

Work in pairs. Ask and answer these questions about measurement:

What can a balance
measure? It can measure...

What's mass? I know that! It's ...

What units do we use
to measure length and
height?

We use..
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N /e CTROSTATICS

\
GEYWORDS: static electricity = charge  friction insulator  conductor )

Today Mr Aisha is teaching Maha about Electrostatics. Read and listen
to the lesson, then do the following activities.

By rubbing a plastic rod -
using friction you can give
the rod a chargel!

Did you do this in science?
—

Why is the water 'ben:ling\
£

INSULATOR -plastic - CONDUCTOR - copper wires,
stops electricity flowing allows electricity to flow through.

Today we're studying electrostatics. That's static
electricity. Do you know the word 'static’ ?

Static electricity is electricity that isn't moving. How do things
get static electricity, Mrs Aisha ?

Mrs Aisha: Friction causes static electricity. Friction is the force when two things rub
together. An electric charge is an amount of electricity in an object. When we charge
something, we give it electricity.

Maha: Sometimes I get an electric shock when I touch things. Is that static electricity?

Mrs Aisha: Yes, it is Maha. Look at the board. Conductors are materials that conduct
electricity. That means electricity goes through them easily. Insulators are materials that
do not conduct electricity. Electricity can't go through them. (When a boy touches the
metal, he gets an electric charge. The electricity moves, it is not static anymore)
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ECECTROSTATICS

Task 1:

Help us draw lines to match these terms.

O static electrici a) Things that electricity can't go through.
® Friction b) Electricity that stays in one place.
© Insulator c) Things that electricity can go through.
O conductors d) The force of two things rubbing.

Task 2:

Help Sheikha and Maha choose the correct words to complete

the sentences. Is it a, b, or ¢c?

O whenwe something, we give it electricity.
a) conduct c) insulate
e do not let electricity go through them.
b) Conductors c) Door handles
©® happens when two things rub together.

a) Insulation b) Conduction
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ECECTHROSTATICS

Task 3:

Let's work in pairs. ONE of the following sentences is FALSE. Which one is it?
Explain why!

O When something is static, it stays in one place. TRUE/FALSE

(2 When we want electricity fo move, we use a conductor. TRUE/FALSE

© Friction stops static electricity. TRUE/FALSE
Numbery ... iS FALSE, DECAUSE ..o

Task 4:

Work in pairs. Ask and answer these questions about electrostatics!

What is the difference between

an insulator and a conductor?
An msula‘ror...@ ..............

a conducfor..@ ............................

How do we make
static electricity?

, . S
WAL DS GESIEiy £ What is static electricity?
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ELCECTROSTATICS

Task 5: PUZZLE TIME!

Help Sheikha and Maha complete the crossword below!

Across

2) Themangotg........ when he touched the door handle!

4) Friction can give things an electrig............... .

5) We make friction whenwej........... two things together.
6) do not conduct electricity.

b 1) Metal door handles,................ electricity.

0

w 3) Staying inone place; not movingy

n
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Grade 7 Semester 1 Lesson 14 Mﬂ@MEFU@M ﬂ

» .
magnet  iron  steel compass  metal
KEYWORDS:

non-metal  compass needle

B The Earth’s Magnetic Field

Magnetic Geographic . . Compass
Poleflt North Pole - -

&

Needle

S
/ /South
* Geographic ' :
. SouthPole Magnetic
e Pole

n/ Steel Paper Clips

3

- I

Good morning. Today we are going to talk about magnets
and compasses. Does any one know what a magnet is?

I do. A magnet is a metal object that can
attract or pull other metals towards it.

Right, but not all metals ! Tt can attract iron and steel. It can't
attract non-metals such as paper or wood.

Now, what is a compass? What is a compass needle?

I know! We use a compass to find directions. It has a metal needle
which is called the compass needle. I't always points north because
of the earth's magnetic field. This way we know where north, south,
east and west are and we can find the direction we want.
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IMAGNETIS VI,

Task 1:

Write the four compass points. North, South, East and West.

Task 2: ................................................

Choose words from the box below and fill in the blanks. Some words may be used more
than once.

non-metals

A magnet attracts ...\ .7

A magnet cannot attract ...\ ...l 27 ..

Ironand steelare . . . ... . N\.7 ... .

© © ®

Wood and plasticare ...\ :

Task 3:

Correct the underlined word in each sentence.

O A plastigcup attracts metal.
O The compass needle always points southy
© Atraveller uses a metal to find his way.
O a compass has thregipoints.
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IMAGNETIS VI,

Task 4:

Choose the correct answer. Is it a, b, or c?

(1) Magnets attract. ... .

a) all objects b) all metals

9 Ironand steelare ... ... .

b) non-metals c) false-metals

© attract iron and steel.
a) Magnets b) Plastic c) Metals
O A magnet ... attract/s paper and rubber.

a) sometimes b) can

(5 I compass needle always points tothe ... :

a) west b) east @

Task 5:

Ask a partner to answer these questions.

What are the four compass points?

A magnet cannot attract wood.
Why?

What direction does a
What do travellers use to find compass needle point t0?

their direction?

129


i.asif
Oval

i.asif
Oval

i.asif
Oval

i.asif
Oval

i.asif
Oval


Grade 7 Semester 1 Lesson 15 Mﬂ@MEFU@M Z_,)

o magnet like poles unlike poles repel
KEYWORDS:

magnetic pole geographic poles

Magnetic Poles Geographic Poles

Like poles
repel

It is something that can attract other
metals towards it.

That's right! Now, look at the
board and tell me more about it.

A magnet has two poles called magnetic poles. The magnetic north pole of a
magnet will attract the magnetic south pole of another magnet, but 2 north
poles or 2 south poles will repel. This means they will push each other away. Like
means same and unlike means different. Unlike poles attract and like poles
repel. Mrs, Aisha what are geographic poles?

I know. The earth has two geographic poles and they are called the North pole
and the South pole. They are places on the top and at the bottom of the earth.
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Task 1:

Correct the underlined word in each sentence.

O The magnet has two poles called geographigpoles. ...

Magnetic north repelsimagnetic south.

To ‘push away’ means to attracty

A eefpasg attracts metals.

@ © ® o

The earth has fetggeographic poles.

Task 2:

Choose the correct answer. Is it a, b, or c?

O . is an object that attracts some metals.

a) compass c) like pole
B Two north poles will . . . . each other.

a) attract c) touch
© North and south poles will each other.

b) repel c) give b4
©O The geographic polesare the ... : | | \~‘ ' 4
a) East and West poles b) East and South poles

O 4 magnet has ... poles.

b) three c) two
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Task 3: PUZZLE TIME!

Fill in the puzzle.

Across
1) A is an object that attracts metals. U 4
4) Theearthhas ... poles 3
5) Like polesj.............. each other.
4
D
0
w 5
n
2) Unlike poles ... each other.
3) Amagnethas g ... poles.
Task 4:

Work in pairs. The following sentences are all false.
Ask a partner to correct them. Don't forget to take turns.

. Two north poles attract.
Like poles attract each other.

The earth has two poles

North and south poles repel. called magnetic poles.

A magnet has two poles

Unlike poles repel each other. ,
called geographic poles.
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